Chemistry page
Chapter 4 In Class Examples:

Average AHomic Mase

Ex 1. Element X has two natural isotopes. The isotope with a mass of 10.012 amu (**X) has a relative
abundance of 19.91%. The isotope with a mass of 11.009 amu (!'X) has a relative abundance of
80.09%. Calculate the atomic mass of this element.

Ex 2. The element copper has naturally occurring isotopes with mass numbers of 63 and 65. The relative
abundance and atomic masses are 69.2% for mass = 62.93 amu, and 30.8% for mass = 64.93 amu.
What is the average atomic mass of copper?

Ex 3. Calculate the atomic mass of bromine. The two isotopes of bromine have atomic masses and relative
abundance of 78.92 amu (50.69%) and 80.92 (49.31%).




